Speaking Question 5 template
The man/woman's problem is that _________________________ (use up to three sentence to describe the problem).
The students/ people discuss some solutions.
First, ______________(solution 1)_______________.
Second, ______________(solution 2)_____________.
If I were the wo/man, I would choose the first/second solution. 	Comment by user: When you get to this part, you should still have 35 seconds remaining. Check the time!
I think that _____(reason one for choosing)____________.
And secondly, I believe that  _______(reason two for choosing)___________.
That's why I would choose the first/second solution. 

